ISSN 2319-2119

REVIEW ARTICLE H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

APPLICATIONS OF DIFFERENTIAL SUBORDINATION TO CERTAIN SUBCLASSES OF MEROMORPHICALLY UNIVALENT FUNCTIONS WITH DIFFERENTIAL OPERATOR

ABSTRACT

By making use of the principle of differential subordination, we investigate several subordination and convolution properties of certain subclasses of meromorphic univalent functions which are defined here by means of a differential operator. We also indicate relevant connections of the various results presented in this paper with those obtained in earlier works.

2010 Mathematics Subject Classification: Primary 30C45.

Keywords: Meromorphic functions, Differential subordination, Hadamard product (or convolution), Differential operator, Hypergeometric function.

1. Introduction and Definitions

Let Σ_m denote the class of functions of the form :

$$f(z) = \frac{1}{z} + \sum_{k=m}^{\infty} a_k z^k \qquad (m \in N := \{1, 2, 3, \dots\}),$$
(1.1)

which are analytic in the punctured unit disc $U^* = \{z : z \in C \text{ and } 0 < |z| < 1\}$, with a simple pole at the origin.

If f(z) and g(z) are analytic in U, we say that f(z) is subordinate to g(z), written symbolically as follows:

 $f \prec g$ in U or $f(z) \prec g(z)$ $(z \in U)$,

if there exists a Schwarz function w(z), which (by definition) is analytic in U, with

$$w(0) = 0$$
 and $|w(z)| < 1$ $(z \in U)$

such that

$$f(z) = g(w(z)) \qquad (z \in U).$$

If g(z) is univalent in U, we have the following equivalence relationship holds true: (cf., e.g., [5]; see also [6,p.4]):

$$f(z) \prec g(z) \quad (z \in U) \Leftrightarrow f(0) = g(0) \text{ and } f(U) \subset g(U).$$

For functions $f(z) \in \Sigma_m$, given by (1.1), and $g(z) \in \Sigma_m$ defined by

$$g(z) = \frac{1}{z} + \sum_{k=m}^{\infty} b_k z^k,$$
 (1.2)

we define the Hadamard product (or convolution) of f(z) and g(z) by

$$(f * g)(z) := \frac{1}{z} + \sum_{k=m}^{\infty} a_k b_k z^k =: (g * f)(z) \qquad (z \in U).$$
(1.3)

www.experimentjournal.com

733

REVIEW ARTICLE H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



In a recent paper, Frasin [1] defined the following differential operator:

$$I_{\lambda}^{0}f(z) = f(z)$$

$$I_{\lambda}^{1}f(z) = (1-\lambda)f(z) + \lambda z f'(z) + \frac{2\lambda}{z}, \quad \lambda \ge 0,$$

$$I_{\lambda}^{2}f(z) = (1-\lambda)I_{\lambda}^{1}f(z) + \lambda z (I_{\lambda}^{1}f(z)' + \frac{2\lambda}{z},$$

and for n = 1, 2, 3, ...

$$I_{\lambda}^{n}f(z) = (1-\lambda)I_{\lambda}^{n-1}f(z) + \lambda z(I_{\lambda}^{n-1}f(z))' + \frac{2\lambda}{z}$$

$$= \frac{1}{z} + \sum_{k=m}^{\infty} \left[1 + \lambda(k-1) \right]^n a_k z^k.$$
(1.4)

Note that for $\lambda = m = 1$, we have the operator $I^n f(z)$ introduced and studied by Frasin and Darus [2]. It easily verified from (1.4) that

$$\lambda z (I_{\lambda}^{n} f(z))' = I_{\lambda}^{n+1} f(z) - (1-\lambda) I_{\lambda}^{n} f(z) - \frac{2\lambda}{z}.$$
(1.5)

Definition. For fixed parameters A and B $(-1 \le B < A \le 1)$, we say that a function $f(z) \in \Sigma_m$, is in the class $\Sigma_m^n(\lambda, A, B)$, if it satisfies the following subordination condition:

$$-z^{2}(I_{\lambda}^{n}f(z))' \prec \frac{1+Az}{1+Bz} \qquad (n \in N_{0}; z \in U).$$
(1.6)

In view of the definition of differential subordination, (1.6) is equivalent to the following condition:

$$\left| \frac{z^2 (I_{\lambda}^n f(z))' + 1}{B z^2 (I_{\lambda}^n f(z))' + A} \right| < 1 \quad (z \in U).$$

For convenience, we write

$$\Sigma_m^n(1-2\alpha,-1)=\Sigma_m^n(\lambda,\alpha),$$

where $\Sigma_m^n(\lambda, \alpha)$ denotes the class of functions in Σ_m satisfying the following inequality

$$R(-z^2(I_{\lambda}^n f(z))') > \alpha \quad (0 \le \alpha < 1; \ z \in U).$$

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747

THE EXPERIMENT

INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

In this paper, we derive several subordination and convolution properties for the function class $\sum_{m}^{n} (\lambda, A, B)$, which we have defined here by means of the differential operator $I_{\lambda}^{n} f$. Relevant connections of the various results presented in this paper with those obtained in earlier works are also pointed out.

2. Preliminary Lemmas

In proving our main results, we need each of the following lemmas.

Lemma 1 (Miller and Mocanu [5]; see also [6]).

Let the function h(z) be analytic and convex (univalent) in U with h(0) = 1. Suppose also that the function $\phi(z)$ given by

$$\phi(z) = 1 + c_{m+1} z^{m+1} + c_{m+2} z^{m+2} + \dots,$$
(2.1)

is analytic in U. If

$$\phi(z) + \frac{z\phi'(z)}{\gamma} \prec h(z) \quad (R(\gamma) \ge 0; \gamma \ne 0; z \in U),$$
(2.2)

then

$$\phi(z) \prec \psi(z) = \frac{\gamma}{m+1} z^{-\frac{\gamma}{m+1}} \int_{0}^{z} t^{\frac{\gamma}{m+1}-1} h(t) dt \prec h(z) \quad (z \in U),$$

and $\psi(z)$ is the best dominant of (2.2).

with a view to stating a well-known result (Lemma 2 below), we denote by $P(\gamma)$ the class of functions $\varphi(z)$ given by

$$\varphi(z) = 1 + b_1 z + b_2 z^2 + \dots,$$
(2.3)

which are analytic in U and satisfy the following inequality:

$$R(\varphi(z)) > \gamma \ (0 \le \gamma < 1; \ z \in U).$$

Lemma 2 (cf., e.g., Pashkouleva [7]). Let the function $\varphi(z)$, given by (2.3), be in the class $P(\gamma)$. Then

$$R\varphi(z)\} \ge 2\gamma - 1 + \frac{2(1-\gamma)}{1+|z|}$$
 $(0 \le \gamma < 1; z \in U).$

Lemma 3 (see [10]). For $0 \le \gamma_1, \gamma_2 < 1$,

$$P(\gamma_1) * P(\gamma_2) \subset P(\gamma_3) \quad (\gamma_3 := 1 - 2(1 - \gamma_1)(1 - \gamma_2)).$$

The result is the beast possible.

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747

THE EXPERIMENT

INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

For real or complex numbers a, b and c ($c \notin z_0^- := \{0, -1, -2, ...\}$), the Gauss hypergeometric function is defined by

$$_{2}F_{1}(a,b;c;z) = 1 + \frac{ab}{c} \cdot \frac{z}{1!} + \frac{a(a+1)b(b+1)}{c(c+1)} \cdot \frac{z^{2}}{2!} + \dots$$

We note that the above series converges absolutely for $z \in U$ and hence represents an analytic function in U (see, for details, [11, chapter 14]).

Each of the identities (asserted by Lemma 4 below) is well-known (cf., e.g., [11, chapter 14]).

Lemma 4. For real or complex parameters a, b and $c \ (c \notin z_0^-)$,

$$\int_{0}^{1} t^{b-1} (1-t)^{c-b-1} (1-zt)^{-a} dt$$

$$=\frac{\Gamma(b)\Gamma(c-b)}{\Gamma(c)}{}_{2}F_{1}(a,b;c;z)(R(c)) > R(b) > 0); \qquad (2.4)$$

$$_{2}F_{1}(a,b;c;z) = (1-z)^{-a} F_{1}(a,c-b;c;\frac{z}{z-1});$$
 (2.5)

$$_{2}F_{1}(a,b;c;z) = _{2}F_{1}(a,b-1;c;z) + \frac{az}{c} _{2}F_{1}(a+1,b;c+1;z);$$
 (2.6)

$${}_{2}F_{1}(a,b;\frac{a+b+1}{2};\frac{1}{2}) = \frac{\sqrt{\pi}\Gamma\left(\frac{a+b+1}{2}\right)}{\Gamma\left(\frac{a+1}{2}\right)\Gamma\left(\frac{b+1}{2}\right)}.$$
(2.7)

3. The Main Subordination Theorems and The Associated Functional Inequalities

Unless otherwise mentioned, we shell assume throughout the sequel that

$$m \in N$$
, $-1 \le B < A \le 1$, $\lambda > 0$, and $n \in N_0 = N \cup \{0\}$.

Theorem 1.

Let the function f(z) defined by (1.1) satisfy the following subordination condition:

$$-\frac{(1-\delta)z^2(I_{\lambda}^n f(z))'+\delta z^2(I_{\lambda}^{n+1} f(z))'}{1-2\lambda\delta}-\frac{2\lambda\delta}{1-2\lambda\delta}\prec \frac{1+Az}{1+Bz}(z\in U).$$

Then

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

$$-z^{2}(I_{\lambda}^{n}f(z))' \prec Q(z) \prec \frac{1+Az}{1+Bz} (z \in U), \qquad (3.1)$$

where the function Q(z) given by

$$Q(z) = \begin{cases} \frac{A}{B} + (1 - \frac{A}{B})(1 + Bz)^{-1} F_1(1, 1; \frac{1 - 2\lambda\delta}{\lambda\delta(m+1)} + 1; \frac{Bz}{1 + Bz}) & (B \neq 0) \\ 1 + \frac{(1 - 2\lambda\delta)AZ}{\lambda\delta(m-1) + 1} & (B = 0) \end{cases}$$

is the best dominant of (3.1). Furthermore,

$$R(-z^{2}(I_{\lambda}^{n}f(z))) > \rho \qquad (z \in U),$$
(3.2)

where

$$\rho = \begin{cases} \frac{A}{B} + (1 - \frac{A}{B})(1 + B)^{-1}{}_{2}F_{1}(1, 1; \frac{1 - 2\lambda\delta}{\lambda\delta(m+1)} + 1; \frac{B}{1 - B}) & (B \neq 0) \\ 1 - \frac{(1 - 2\lambda\delta)A}{\lambda\delta(m-1) + 1} & (B = 0). \end{cases}$$

The inequality in (3.2) is the best possible.

Proof. Consider the function $\phi(z)$ defined by

$$\phi(z) = -z^2 (I_{\lambda}^n f(z))' \qquad (z \in U).$$
(3.3)

Then $\phi(z)$ is of the form (2.1) and is analytic in U. Applying the identity (1.5) in (3.3) and differentiating the resulting equation with respect to z, we get

$$-\frac{(1-\delta)z^2(I_{\lambda}^n f(z))' + \delta z^2(I_{\lambda}^{n+1} f(z))'}{1-2\lambda\delta} - \frac{2\lambda\delta}{1-2\lambda\delta}$$
$$= \phi(z) + \frac{\lambda\delta z\phi'(z)}{1-2\lambda\delta} \prec \frac{1+Az}{1+Bz} (z \in U).$$

Now, by using Lemma 1 for $\gamma = \frac{1 - 2\lambda\delta}{\lambda\delta}$, we deduce that

$$-z^{2}(I_{\lambda}^{n}f(z))' \prec Q(z) = \frac{1-2\lambda\delta}{\lambda\delta(m+1)} Z^{-\frac{1-2\lambda\delta}{\lambda\delta(m+1)}} \int_{0}^{z} t^{\frac{1-2\lambda\delta}{\lambda\delta(m+1)}-1} \left(\frac{1+At}{1+Bt}\right) dt$$

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

$$= \begin{cases} \frac{A}{B} + (1 - \frac{A}{B})(1 + Bz)^{-1}{}_{2}F_{1}(1, 1; \frac{1 - 2\lambda\delta}{\lambda\delta(m+1)} + 1; \frac{Bz}{1 + Bz}) & (B \neq 0) \\ 1 + \frac{(1 - 2\lambda\delta)AZ}{\lambda\delta(m-1) + 1} & (B = 0), \end{cases}$$

by change of variables followed by the use of the identities (2.4), (2.5) and (2.6) (with b=1 and c=a+1). This prove the assertion (3.1) of Theorem 1.

Next, in order to prove the assertion (3.2) of Theorem 1, it suffices to show that

$$\inf_{|z|<1} \{ R(Q(z)) \} = Q(-1).$$
(3.4)

Indeed, for $|z| \leq r < 1$.

$$R\left(\frac{1+Az}{1+Bz}\right) \ge \frac{1-Ar}{1-Br} \quad (|z| \le r < 1).$$

Upon setting

$$G(s,z) = \frac{1 + Asz}{1 + Bsz} \text{ and}$$
$$dv(s) = \frac{1 - 2\lambda\delta}{\lambda\delta(m+1)} s^{\frac{1 - 2\lambda\delta}{\lambda\delta(m+1)} - 1} ds (0 \le s \le 1),$$

1

which is a positive measure on the closed interval [0,1], we get

$$Q(z) = \int_0^1 G(s, z) dv(s),$$

so that

$$R(Q(z)) \ge \int_{0}^{1} \left(\frac{1-Asr}{1-Bsr}\right) dv(s) = Q(-r) \quad (|z| \le r < 1).$$

Letting $r \rightarrow 1-$ in the above inequality, we obtain the assertion (3.2) of Theorem 1.

Finally, the estimate in (3.2) is the best possible as the function Q(z) is the best dominant of (3.1).

Putting $\delta = 1$ in Theorem 1, we get the following result

Corollary 1.

If $f(z) \in \Sigma_m$ satisfies

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



$$\frac{-z^2\left\{\left(I_{\lambda}^n f(z)\right)' + \lambda z \left(I_{\lambda}^n f(z)\right)''\right\}}{1 - 2\lambda} \prec \frac{1 + Az}{1 + Bz} \qquad (z \in U)$$

then

$$-z^{2}(I_{\lambda}^{n}f(z))' \prec Q(z) \prec \frac{1+Az}{1+Bz} \quad (z \in U)$$

where the function Q(z) is given by

$$Q(z) = \begin{cases} \frac{A}{B} + (1 - \frac{A}{B})(1 + Bz)^{-1}{}_{2}F_{1}(1, 1; \frac{1 - 2\lambda}{\lambda(m+1)} + 1; \frac{Bz}{1 + Bz}) & (B \neq 0) \\ 1 + \frac{(1 - 2\lambda)AZ}{\lambda(m-1) + 1} & (B = 0) \end{cases}$$

is the best dominant. Furthermore

$$R(-z^2(I_{\lambda}^n f(z))') > p \qquad (z \in U),$$

where

$$\rho = \begin{cases} \frac{A}{B} + (1 - \frac{A}{B})(1 + B)^{-1} F_1(1, 1; \frac{1 - 2\lambda}{\lambda(m+1)} + 1; \frac{B}{1 - B}) & (B \neq 0) \\ 1 - \frac{(1 - 2\lambda)A}{\lambda(m-1) + 1} & (B = 0). \end{cases}$$

The result is the beast possible.

Remark.

The result (asserted by corollary 1 above) when m = 0 was also obtained by Patel and Sahoo[9] and Lashin 3].

For
$$A = 1 - 2\gamma (0 \le \gamma < 1)$$
, $B = -1$, $m = 0$ and $\lambda = \frac{1}{3}$

Corollary 1 yields the following result which obtained by Lashin [3]

Corollary 2.

If $f(z) \in \Sigma_m$ satisfies the following inequality

$$-z^{2}[3f'(z) + zf''(z)] > \gamma \qquad (0 \le \gamma < 1, z \in U)$$

the Re{ $-z^{2}f'(z)$ } > 1 + 2(1 - γ)($\ell n 2 - 1$)($z \in U$)

the result is best possible.

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



Theorem 2.

$$R\left(\frac{-z^{2}\left\{(1-\delta)(I_{\lambda}^{n}f(z))'+\delta(I_{\lambda}^{n+1}f(z))'+2\lambda\delta(1-\alpha)\right\}}{1-2\lambda\delta}\right) > \alpha \quad (|z| < R_{1}), \quad (3.5)$$

If $f(z) \in \Sigma_m^n(\alpha)$ $(0 \le \alpha < 1)$, then

where

$$R_1 = \left(\sqrt{1 + \frac{\lambda^2 \delta^2 (m+1)^2}{(1 - 2\lambda \delta)^2}} - \frac{\lambda \delta (m+1)}{1 - 2\lambda \delta}\right)^{\frac{1}{m+1}}.$$

The result is the best possible.

Proof. We begin by writing

$$-z^{2}(I_{\lambda}^{n}f(z))' = \alpha + (1-\alpha)u(z) \quad (z \in U).$$
(3.6)

Then, clearly, u(z) is of the form (2.1), is analytic in U, and has a positive real part in U. Making use of the identity (1.5) in (3.6) and differentiating the resulting equation with respect to z. we observe that

$$-\frac{z^{2}[(1-\delta)(I_{\lambda}^{n}f(z))'+\delta(I_{\lambda}^{n+1}f(z))']+2\lambda\delta(1-\alpha)+\alpha}{[1-2\lambda\delta](1-\alpha)}=u(z)+\frac{\lambda\delta zu'(z)}{1-2\lambda\delta}.$$
(3.7)

Now, by applying the following estimate [5]:

$$\frac{|zu'(z)|}{R\{u(z)\}} \le \frac{2(m+1)r^{m+1}}{1-r^{2(m+1)}} \qquad (|z|=r<1),$$

in (3.7), we get

$$R\left(-\frac{z^{2}[(1-\delta)(I_{\lambda}^{n}f(z))'+\delta(I_{\lambda}^{n+1}f(z))']+2\lambda\delta(1-\alpha)+\alpha}{[1-2\lambda\delta](1-\alpha)}\right)$$
$$\geq R(u(z))\left(1-\frac{2\lambda\delta(m+1)r^{m+1}}{(1-2\lambda\delta)(1-r^{2(m+1)})}\right).$$
(3.8)

It is easily seen that the right- hand side of (3.8) is positive, provided that $r < R_1$, where R_1 is given as in Theorem 2. This proves the assertion (3.5) of Theorem 2.

In order to show that the bound R_1 is the best possible, we consider the function $f(z) \in \Sigma_m$ defined by Noting that

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

$$\frac{-z^{2} \left[(1-\delta)(I_{\lambda}^{n}f(z))' + \delta(I_{\lambda}^{n+1}f(z))' \right] + 2\lambda\delta(1-\alpha) + \alpha}{[1-2\lambda\delta](1-\alpha)}$$
$$= \frac{(1-2\lambda\delta)(1-z^{2(m+1)}) + 2\lambda\delta(m+1)z^{m+1}}{(1-2\lambda\delta)(1-z^{m+1})^{2}} = 0$$

for

$$z = R.\exp\left(\frac{i\pi}{m+1}\right)$$

we complete the proof of Theorem 2.

Theorem 3.

Let $f(z) \in \Sigma_m^n(\lambda, A, B)$ and let

$$F_{\gamma}(f)(z) = \frac{\gamma}{z^{\gamma+1}} \int_{0}^{z} t^{\gamma} f(t) dt \qquad (\gamma > 0; z \in U^{*}).$$
(3.9)

Then

$$-z^{2}(I_{\lambda}^{n}\mathbf{F}_{\gamma}(f)(z))' \prec \theta(z) \prec \frac{1+Az}{1+Bz} (z \in U),$$
(3.10)

where the function $\theta(z)$ given by

$$\theta(z) = \begin{cases} \frac{A}{B} + (1 - \frac{A}{B})(1 + Bz)^{-1} F_1(1, 1; \frac{\gamma}{m+1} + 1; \frac{Bz}{1 + Bz}) & (B \neq 0) \\ 1 + \frac{\gamma Az}{\gamma + m + 1} & (B = 0). \end{cases}$$

is the best dominant of (3.10). Furthermore,

$$R\left(-z^{2}(I_{\lambda}^{n}F_{\gamma}(f)(z))'\right) > \chi \qquad (z \in U),$$
(3.11)

where

$$\chi = \begin{cases} \frac{A}{B} + (1 - \frac{A}{B})(1 - Bz)^{-1} F_1(1, 1; \frac{\gamma}{m+1} + 1; \frac{B}{B-1}) & (B \neq 0) \\ 1 - \frac{\gamma Az}{\gamma + m+1} & (B = 0). \end{cases}$$

The result is the best possible

Proof. Setting

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

$$\phi(z) = -z^2 (I_{\lambda}^n F_{\delta}(f)(z))' \qquad (z \in U),$$
(3.12)

we note that $\phi(z)$ is of the form (2.1) and is analytic in U. Using the following operator identity:

$$z(I_{\lambda}^{n}F_{\gamma}(f)(z))' = \mathcal{H}_{\lambda}^{n}f(z) - (\gamma+1)I_{\lambda}^{n}F_{\gamma}(f)(z), \qquad (3.13)$$

in (3.12), and differentiating the resulting equation with respect to z, we fined that

$$-z^{2}(I_{\lambda}^{n}f(z))'=\phi(z)+\frac{z\phi'(z)}{\gamma}\prec\frac{1+Az}{1+Bz}\quad(z\in U).$$

Now the remaining part of Theorem 3 follows by employing the techniques that we used in proving Theorem 1 above.

Theorem 4.

Let $f(z) \in \Sigma_m$. Suppose also that $g(z) \in \Sigma_m$ satisfies the following inequality:

$$R(zI_{\lambda}^{n}g(z)) > 0 \qquad (z \in U).$$
$$\left|\frac{I_{\lambda}^{n}f(z)}{I_{\lambda}^{n}g(z)} - 1\right| < 1 \qquad (m \in N_{0}; z \in U),$$

then

$$R\!\left(-\frac{z(I_{\lambda}^{n}f(z))}{I_{\lambda}^{n}f(z)}\right) > 0 \qquad (|z| < R_{0}),$$

where

$$R_0 = \frac{\sqrt{(m+2) + (m+1)^2} - (m+1)}{(m+2)}.$$

Proof. Letting

$$w(z) = \frac{I_{\lambda}^{n} f(z)}{I_{\lambda}^{n} g(z)} - 1 = k_{m+1} z^{m+1} + k_{m+2} z^{m+2} + \dots,$$
(3.14)

we note that w(z) is analytic in U, with

$$w(0) = 0$$
 and $|w(z)| \le |z|^{m+1}$ $(z \in U)$.

Then, by applying the familiar Schwarz Lemma, we get

$$w(z) = z^{m+1} \psi(z),$$

where the function $\psi(z)$ is analytic in U and

742

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



$$|\psi(z)| \le 1 \qquad (z \in U).$$

Therefore, (3.14) leads us to

$$I_{\lambda}^{n}f(z) = I_{\lambda}^{n}g(z)(1+z^{m+1}\psi(z)) \qquad (z \in U).$$
(3.15)

Making use of logarithmic differentiation in (3.15), we obtain

$$\frac{z(I_{\lambda}^{n}f(z))'}{I_{\lambda}^{n}f(z)} = \frac{z(I_{\lambda}^{n}g(z))'}{I_{\lambda}^{n}g(z)} + \frac{z^{m+1}[(m+1)\psi(z) + z\psi'(z)]}{1 + z^{m+1}\psi(z)}.$$
(3.16)

Setting $\phi(z) = zI_{\lambda}^{n}g(z)$, we see that the function $\phi(z)$ is of the form (2.1), is analytic in U,

$$R(\phi(z)) > 0 \qquad (z \in U),$$

and

$$\frac{z(I_{\lambda}^{n}g(z))'}{I_{\lambda}^{n}g(z)} = \frac{z\phi'(z)}{\phi(z)} - 1,$$

so that we fined from (3.16) that

$$R\left(-\frac{z(I_{\lambda}^{n}f(z))'}{I_{\lambda}^{n}f(z)}\right) \ge 1 - \left|\frac{z\phi'(z)}{\phi(z)}\right| - \left|\frac{z^{m+1}\left\{(m+1)\psi(z) + z\psi'(z)\right\}}{1 + z^{m+1}\psi(z)}\right| \quad (z \in U).$$
(3.17)

Now, by using the following known estimates [8] (see also [4]):

$$\left|\frac{\phi'(z)}{\phi(z)}\right| \le \frac{2(m+1)r^m}{1-r^{2(m+1)}}$$

and

$$\left|\frac{(m+1)\psi(z) + z\psi'(z)}{1 + z^{m+1}\psi(z)}\right| \le \frac{(m+1)}{1 - r^{m+1}} \qquad (|z| = r < 1)$$

in (3.18), we obtain

$$R\left(\frac{-z(I_{\lambda}^{n}f(z))'}{I_{\lambda}^{n}f(z)}\right) \ge \frac{1-2(m+1)r^{m+1}-(m+2)r^{2(m+1)}}{1-r^{2(m+1)}} (|z|=r<1),$$

which is certainly positive, provided that $r < R_0$, R_0 being given as in Theorem 4.

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

Theorem 5.

Let $-1 \le B_j < A_j \le 1$ (j = 1, 2). If each of the functions $f_j(z) \in \Sigma_m$ satisfies the following subordination condition:

$$\frac{(1-\delta)zI_{\lambda}^{n}f_{j}(z)+\delta zI_{\lambda}^{n+1}f_{j}(z)}{1-2\lambda\delta}-\frac{2\lambda\delta}{1-2\lambda\delta}\prec\frac{1+A_{j}z}{1+B_{j}z}\quad (j=1,2;\ z\in U), \quad (3.18)$$

then

$$\frac{(1-\delta)zI_{\lambda}^{n}H(z)+\delta zI_{\lambda}^{n+1}H(z)}{1-2\lambda\delta}-\frac{2\lambda\delta}{1-2\lambda\delta}\prec\frac{1+(1-2\eta)z}{1-z}(z\in U)$$
(3.19)

where

$$H(z) = I_{\lambda}^{n}(f_{1} * f_{2})(z)$$

and

$$\eta = 1 - \frac{4(A_1 - B_1)(A_2 - B_2)}{(1 - B_1)(1 - B_2)} \left[1 - \frac{1}{2} {}_2F_1(1, 1; \frac{1}{\lambda\delta} - 1; \frac{1}{2}) \right].$$

The result is the best possible when $B_1 = B_2 = -1$.

Proof. Suppose that each of the functions $f_j(z) \in \Sigma_p$ (j = 1, 2) satisfies the condition (3.18). Then, by letting

$$\varphi_j(z) = \frac{(1-\delta)zI_\lambda^n f_j(z) + \delta zI_\lambda^{n+1} f_j(z)}{1-2\lambda\delta} - \frac{2\lambda\delta}{1-2\lambda\delta} \qquad (j=1,2), \qquad (3.20)$$

we have

$$\varphi_j(z) \in p(\gamma_j)$$
 $\left(\gamma_j = \frac{1 - A_j}{1 - B_j}, \quad j = 1, 2\right).$

By making use of the operator identity (1.5) in (3.20), we observe that

$$I_{\lambda}^{n}f_{j}(z) = \left(\frac{1}{\lambda\delta} - 2\right)z^{1-\frac{1}{\lambda\delta}}\int_{0}^{z}t^{\frac{1}{\lambda\delta}-3} \quad \varphi_{j}(t)dt \quad (j = 1, 2),$$

which, in view of the definition of H(z) given already with (3.19), yields

$$I_{\lambda}^{n}H(z) = \left(\frac{1}{\lambda\delta} - 2\right) z^{1-\frac{1}{\lambda\delta}} \int_{0}^{z} t^{\frac{1}{\lambda\delta}-3} \qquad \varphi_{0}(t)dt, \qquad (3.21)$$

where, for convenience,

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



 $\varphi_0(z) = \frac{(1-\delta)zI_{\lambda}^{n}H(z) + \delta zI_{\lambda}^{n+1}H(z)}{1-2\lambda\delta} - \frac{2\lambda\delta}{1-2\lambda\delta}$ $= \left(\frac{1}{\lambda\delta} - 2\right)z^{1-\frac{1}{\lambda\delta}}\int_{0}^{z}t^{\frac{1}{\lambda\delta}-3} \quad (\varphi_1 * \varphi_2)(t)dt. \tag{3.22}$

Since $\varphi_1(z) \in p(\gamma_1)$ and $\varphi_2(z) \in p(\gamma_2)$, it follows from Lemma 3 that

$$(\varphi_1 * \varphi_2)(z) \in p(\gamma_3)$$
 $(\gamma_3 = 1 - 2(1 - \gamma_1)(1 - \gamma_2)).$ (3.23)

Now, by using (3.23) in (3.22) and then appealing to Lemma 2 and Lemma 4, we get

$$\begin{split} R\{\varphi_{0}(z)\} &= \left(\frac{1}{\lambda\delta} - 2\right) \int_{0}^{1} u^{\frac{1}{\lambda\delta} - 3} R\{(\varphi_{1} * \varphi_{2})\}(uz) du. \\ &\geq \left(\frac{1}{\lambda\delta} - 2\right) \int_{0}^{1} u^{\frac{1}{\lambda\delta} - 3} \left(2\gamma_{3} - 1 + \frac{2(1 - \gamma_{3})}{1 + u|z|}\right) du \\ &> \left(\frac{1}{\lambda\delta} - 2\right) \int_{0}^{1} u^{\frac{1}{\lambda\delta} - 3} \left(2\gamma_{3} - 1 + \frac{2(1 - \gamma_{3})}{1 + u}\right) du \\ &= 1 - \frac{4(A_{1} - B_{1})(A_{2} - B_{2})}{(1 - B_{1})(1 - B_{2})} \left(1 - \left(\frac{1}{\lambda\delta} - 2\right) \int_{0}^{1} u^{\frac{1}{\lambda\delta} - 3} (1 + u)^{-1} du\right) \\ &= 1 - \frac{4(A_{1} - B_{1})(A_{2} - B_{2})}{(1 - B_{1})(1 - B_{2})} \left[1 - \frac{1}{2} {}_{2}F_{1}\left(1, 1; \left(\frac{1}{\lambda\delta} - 1\right); \frac{1}{2}\right)\right] \\ &= \eta \qquad (z \in U). \end{split}$$

when $B_1 \square B_2 \square 1$, we consider the functions $f_j(z) \in \Sigma_m$ (j = 1, 2), which satisfy the hypothesis (3.18) of Theorem 5 and are defined by

$$I_{\lambda}^{n}f_{j}(z) = \left(\frac{1}{\lambda\delta} - 2\right)z^{1-\frac{1}{\lambda\delta}}\int_{0}^{z}t^{\frac{1}{\lambda\delta}-3}\left(\frac{1+A_{j}t}{1-t}\right) \quad dt(j=1,2).$$

Thus it follows from (3.22) and Lemma 4 that

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

$$\begin{split} \varphi_0(z) &= \left(\frac{1}{\lambda\delta} - 2\right) \int_0^1 u^{\frac{1}{\lambda\delta} - 3} \left(1 - (1 + A_1)(1 + A_2) + \frac{(1 + A_1)(1 + A_2)}{1 - uz}\right) du \\ &= 1 - (1 + A_1)(1 + A_2) + (1 + A_1)(1 + A_2)(1 - z)^{-1} F_1\left(1, 1; \frac{1}{\lambda\delta} - 1; \frac{z}{z - 1}\right) \\ &\to 1 - (1 + A_1)(1 + A_2) + \frac{1}{2}(1 + A_1)(1 + A_2)_2 F_1\left(1, 1; \frac{1}{\lambda\delta} - 1; \frac{1}{2}\right) \text{ as } z \to -1, \end{split}$$

which evidently completes the proof of Theorem 5.

Theorem 6.

If $f(z) \in \Sigma_m$ satisfies the following subordination condition:

$$\frac{(1-\delta)zI_{\lambda}^{n}f(z)+\delta zI_{\lambda}^{n+1}f(z)}{1-2\lambda\delta}-\frac{2\lambda\delta}{1-2\lambda\delta}\prec\frac{1+Az}{1+Bz}\quad(z\in U),$$

then

$$R((zI_{\lambda}^{n}f(z))^{1/q}) > \rho^{1/q} \quad (q \in N; z \in U),$$

where ρ is given as in Theorem 1. The result is the best possible

Proof. Defining the function $\phi(z)$ by

$$\phi(z) = z I_{\lambda}^{n} f(z) \quad (f \in \Sigma_{m}; z \in U), \tag{3.24}$$

we see that the function $\phi(z)$ is of the form (2.1) and is analytic in U. Using the identity (1.5) in (3.24) and differentiating the resulting equation with respect to z, we find that

$$\frac{(1-\delta)zI_{\lambda}^{n}f(z)+\delta zI_{\lambda}^{n+1}f(z)}{1-2\lambda\delta}-\frac{2\lambda\delta}{1-2\lambda\delta}=\phi(z)+\frac{\lambda\delta z\phi'(z)}{1-2\lambda\delta}\prec\frac{1+Az}{1+Bz}\quad (z\in U).$$

Now, by following the lines of proof of Theorem 1, and using the elementary inequality:

$$R(w^{1/q}) \ge (R(w))^{1/q}$$
 $(R(w)) > 0; q \in N),$

we arrive at the result asserted by Theorem 6.

ISSN 2319-2119

REVIEW ARTICLE

H. E. Darwish et al, The Experiment, 2013, July, Vol.12. (1), 733-747



INTERNATIONAL JOURNAL OF SCIENCE AND TECHNOLOGY

REFERENCES

- 1. B. A. Frasin, Differential operator of meromorphic p-valent functions, Tamkang J. Math., 43(2012), 417-421.
- 2. B. A. Frasin and M. Darus, On certain meromorphic functions with positive coefficients, South East Asian Bulletin of Math., 28(2004), 615-623.
- 3. A. Y. Lashin, On certain subclasses of meromorphic functions associated with certain integral operators, Comput. Math. Appl., 59(1)(2010), 524-531.
- 4. T. H, Macgregor, Radius of univalence of certain analytic functions, Proc. Amer. Math. Soc., 14(1963), 514-520.
- 5. S. S. Miller and P. T. Mocanu, Differential subordinations and univalent functions, Michigan Math. J., 28(1981), 157-171.
- 6. S. S. Miller and P. T. Mocanu, Differential subordinations: Theory and Applications, Series on Monographs and Textbooks in pure and Applied Mathematics, Vol. 225, Marcel Dekker, New York and Basel, 2000.
- D. Z. Pashkouleva, The starlikeness and spiral-convexity of certain subclasses of analytic functions, in : H. M. Srivastava and S. Owa (Editors), Current Topics in Analytic Function Theory, pp. 266-273, World Scientific Publishing Company, Singapore, New Jersey, London and Hong Kong, 1992.
- 8. J. Patel, Radii of spiralikeness of certain analytic functions, J. Math. Phys.Sci. 27(1993), 321-334.
- 9. J. Patel, P. Sahoo, On certain subclass of meromorphically univalent functions, kyungpook Math. J. 42(2002) 121-132.
- 10. J. Stankiewicz and Z. stankiewicz, Some applications of the Hadamard convolution in theory of functions, Ann. Univ. Mariae curie- Sklodowska Sect. A, 40 (1986), 251-265.
- 11. E. T. Whittaker and G. N. Wastson, A Course on Modern analysis : An Introduction to the General Theory of Infinite processes and of Analytic Functions; with an Account of the principal Transcendental Functions, Fourth Edition (Reprinted), Cambridge University Press, Cambridge, 1927.

H. E. Darwish 1, A. Y. Lashin 2 , and B. H. RIZQAN 3

Department of Mathematics. Faculty of Science, Mansoura

University, Mansoura, Egypt

E mail: Darwish333@yahoo.com